

Q.1 Given Sequence  $\left\{ \frac{(-1)^n \cdot \sqrt{n} \cdot \sin \sqrt{n}}{n+1} \right\}_{n=1}^{\infty}$

(4)  
 n-th term:  $a_n = \frac{(-1)^n \cdot \sqrt{n} \cdot \sin \sqrt{n}}{n+1}, n \geq 1$

1st Term:  $a_1 = -\frac{\sin 1}{2}$ ; 2nd Term:  $a_2 = \frac{\sqrt{2} \cdot \sin \sqrt{2}}{3}$

3rd Term:  $a_3 = -\frac{\sqrt{3} \cdot \sin \sqrt{3}}{4}$ ; 4th Term:  $a_4 = \frac{2 \sin 2}{5}$

5th Term:  $a_5 = -\frac{\sqrt{5} \cdot \sin \sqrt{5}}{6}$  (1)

lim  $|a_n| = \lim_{n \rightarrow \infty} \left| \frac{(-1)^n \cdot \sqrt{n} \cdot \sin \sqrt{n}}{n+1} \right| = \lim_{n \rightarrow \infty} \frac{\sqrt{n} \cdot \sin \sqrt{n}}{n+1}$

$= \lim_{n \rightarrow \infty} \frac{n}{n+1} \cdot \lim_{n \rightarrow \infty} \frac{\sin \sqrt{n}}{\sqrt{n}} \quad \text{--- (1)}$

$\lim_{n \rightarrow \infty} \frac{n}{n+1} = \lim_{n \rightarrow \infty} \frac{1}{1 + \frac{1}{n}} = 1$

$\because 0 \leq \sin \sqrt{n} \leq 1 \Rightarrow 0 \leq \frac{\sin \sqrt{n}}{\sqrt{n}} \leq \frac{1}{\sqrt{n}}$

$\Rightarrow 0 \leq \lim_{n \rightarrow \infty} \frac{\sin \sqrt{n}}{\sqrt{n}} \leq \lim_{n \rightarrow \infty} \frac{1}{\sqrt{n}} = 0$

$\Rightarrow$  By Sandwich theorem,  $\lim_{n \rightarrow \infty} \frac{\sin \sqrt{n}}{\sqrt{n}} = 0$

$\therefore (1) \Rightarrow \lim_{n \rightarrow \infty} |a_n| = 1 \times 0 = 0$

$\Rightarrow \lim_{n \rightarrow \infty} a_n = 0 \quad \because \lim_{n \rightarrow \infty} |a_n| = 0 \Rightarrow \lim_{n \rightarrow \infty} a_n = 0$

$\therefore$  The given sequence converges to 0, its limiting value is 0. (3)



Q.2 Given Power Series  $\sum_{n=0}^{\infty} \frac{(-1)^n \cdot x^{n+1}}{n+1}$  — (1)

n<sup>th</sup> terms  $u_n = \frac{(-1)^n \cdot x^{n+1}}{n+1}$ ,

Ratio:  $\frac{u_{n+1}}{u_n} = -\frac{n+1}{n+2} \cdot x \Rightarrow \left| \frac{u_{n+1}}{u_n} \right| = \frac{n+1}{n+2} \cdot |x|$

$\Rightarrow \lim_{n \rightarrow \infty} \left| \frac{u_{n+1}}{u_n} \right| = |x|$

By ratio test for AC, the given power series is AC if

$|x| < 1$  & it is divergent if  $|x| > 1$ .

For  $|x| = 1$ , i.e., for  $x = \pm 1$ , we check separately.

For  $x = 1$ :

(1)  $\Rightarrow \sum_{n=0}^{\infty} \frac{(-1)^n}{n+1}$  It is an alternating harmonic series.

The corresponding absolute term series is  $\sum_{n=0}^{\infty} \left| \frac{(-1)^n}{n+1} \right| = \sum_{n=0}^{\infty} \frac{1}{n+1}$

It is a divergent harmonic series, now, use the AST.

C-I.  $n+1 < n+2, \forall n \geq 0$

$\Rightarrow \frac{1}{n+1} > \frac{1}{n+2}, \forall n \geq 0 \Rightarrow a_n > a_{n+1}, \forall n \geq 2$

$\therefore$  C-I is satisfied.

C-II  $\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \frac{1}{n+1} = 0 \Rightarrow$  C-II is satisfied.

$\therefore$  Series (1) converges conditionally (CC) for  $x = 1$ . (2)

For  $x = -1$ :

(1)  $\Rightarrow \sum_{n=0}^{\infty} \frac{(-1)^{2n+1}}{n+1} = \sum_{n=0}^{\infty} \frac{-1}{n+1} = -\sum_{n=0}^{\infty} \frac{1}{n+1}$

$\therefore \sum_{n=0}^{\infty} \frac{1}{n+1}$  diverges  $\therefore -\sum_{n=0}^{\infty} \frac{1}{n+1}$  also diverges.

$\therefore$  IC =  $(-1, 1]$  (1)



Given power series is

$$\sum_{n=0}^{\infty} \frac{(-1)^n \cdot x^{n+1}}{n+1} = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots$$

we know that

$$\frac{1}{1+x} = 1 - x + x^2 - x^3 + \dots, \quad |x| < 1$$

$$\Rightarrow \int \frac{dx}{1+x} = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots$$

$$\Rightarrow \ln(1+x) = \sum_{n=0}^{\infty} \frac{(-1)^n \cdot x^{n+1}}{n+1}, \quad -1 < x \leq 1 \quad \text{I.C.} = (-1, 1].$$

$\therefore$  Given power series represents  $\ln(1+x)$ . 2

Q.3  $\int_0^{1/2} x \cdot \cos x^3 \cdot dx \approx ?$

⑤ we know that Maclaurin's series of  $\cos x$  is

$$\cos x = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots$$

$$\Rightarrow \cos x^3 = 1 - \frac{x^6}{2!} + \frac{x^{12}}{4!} - \frac{x^{18}}{6!} + \dots$$

$$\Rightarrow x \cdot \cos x^3 = x - \frac{x^7}{2!} + \frac{x^{13}}{4!} - \frac{x^{19}}{6!} + \dots \quad \text{②}$$

$$\Rightarrow x \cdot \cos x^3 \approx x - \frac{x^7}{2!} + \frac{x^{13}}{4!} \quad (\text{Taking only 1st 3 non-zero terms}).$$

$$\Rightarrow \int_0^{1/2} x \cdot \cos x^3 \cdot dx \approx \int_0^{1/2} \left( x - \frac{x^7}{2!} + \frac{x^{13}}{4!} \right) \cdot dx = \left[ \frac{x^2}{2} - \frac{x^8}{2 \cdot 8} + \frac{x^{14}}{4! \cdot 14} \right]_0^{1/2}$$

$$\Rightarrow \int_0^{1/2} x \cdot \cos x^3 \cdot dx \approx \frac{1}{8} - \frac{1}{4096} + \frac{1}{5505024} = 0.125 - 0.000244140625 + 0.0000001818181818$$

$$\Rightarrow \int_0^{1/2} x \cdot \cos x^3 \cdot dx \approx \underline{\underline{0.12476}} \quad \text{③}$$



Q.4  $\vec{a} = [2, 0, -1]$ ,  $\vec{b} = [-3, 1, 0]$ ,  $\vec{c} = [1, -2, 4]$

(5)  $\vec{a} \times \vec{b} = \begin{vmatrix} \hat{i} & \hat{j} & \hat{k} \\ 2 & 0 & -1 \\ -3 & 1 & 0 \end{vmatrix} = \hat{i} + 3\hat{j} + 2\hat{k}$

let  $\theta$  be the angle b/w the vectors  $\vec{a} \times \vec{b}$  &  $\vec{c}$ .

$\therefore \cos \theta = \frac{(\vec{a} \times \vec{b}) \cdot \vec{c}}{\|\vec{a} \times \vec{b}\| \|\vec{c}\|} = \frac{[1, 3, 2] \cdot [1, -2, 4]}{\sqrt{14} \cdot \sqrt{21}} = \frac{3}{\sqrt{294}} = 0.175$

$\Rightarrow \theta = \cos^{-1}(0.175) = 79.92^\circ \approx 80^\circ$  (3)

Comp.  $\vec{a} \times \vec{b} = \|\vec{a} \times \vec{b}\| \cdot \cos \theta = \sqrt{14} \times 0.175 = 3.774$  (2)

Q.5 Given planes:

(6)  $P_1: x - 5y + 3z = 11$  — (i),  $P_2: -3x + 2y - 2z = -7$  — (ii)

Normal vector of  $P_1: \vec{n}_1 = [1, -5, 3]$

" " "  $P_2: \vec{n}_2 = [-3, 2, -2]$

$\therefore \frac{1}{-3} \neq \frac{-5}{2} \neq \frac{3}{-2}$ , i.e., components of  $\vec{n}_1$  &  $\vec{n}_2$  are not proportional.  $\therefore \vec{n}_1$  &  $\vec{n}_2$  are not  $\parallel$ .  $\Rightarrow P_1 \not\parallel P_2$ . (2)

For line of intersection of  $P_1$  &  $P_2$ :

(i)  $\Rightarrow x - 5y = 11 - 3z$  — (iii)

(ii)  $\Rightarrow 3x - 2y = 7 - 2z$  — (iv)

$3(\text{iii}) - (\text{iv}) \Rightarrow -13y = 26 - 7z \Rightarrow y = -2 + \frac{7}{13}z$  — (v)

$2(\text{iii}) - 5(\text{iv}) \Rightarrow -13x = -13 + 4z \Rightarrow x = 1 - \frac{4}{13}z$  — (vi)

let  $z = t$ , then we have,

$\therefore x = 1 - \frac{4}{13}t, y = -2 + \frac{7}{13}t, z = t, t \in \mathbb{R}$  — (vii)

This is the line of intersection of  $P_1$  &  $P_2$ . (4)



④ Vector differential Equation:  $\ddot{\vec{r}}(t) = \frac{t}{(1+t^2)^2} \hat{i} + \frac{1}{(1+t)^2} \hat{j} + 2 \cdot 3^t \hat{k}$  — (I)

I.C.s:  $\dot{\vec{r}}(0) = \frac{1}{2} \hat{i} + 2 \hat{j} - \frac{2}{3 \cdot \ln 2} \hat{k}$  — (II)

$\vec{r}(0) = 6 \hat{i} + \hat{j}$  — (III)

Integrating (I) on both sides w.r.t. 't'

$$\int \ddot{\vec{r}}(t) dt = \int \frac{t}{(1+t^2)^2} dt \hat{i} + \int \frac{dt}{(1+t)^2} \hat{j} + \int 2 \cdot 3^t dt \hat{k}$$

$$\Rightarrow \dot{\vec{r}}(t) = \hat{i} \int (1+t^2)^{-2} \cdot t dt + \hat{j} \int (1+t)^{-2} dt + \hat{k} \int 2 \cdot 3^t dt$$

$$= -\frac{1}{2(1+t^2)} \hat{i} + \frac{1}{1+t} \hat{j} + \frac{2 \cdot 3^t}{3 \ln 2} \hat{k} + \vec{C} \quad \text{--- (IV)}$$

where  $\vec{C}$  is arbitrary const of integration

At  $t=0$ ;  $\dot{\vec{r}}(0) = -\frac{1}{2} \hat{i} - \hat{j} + \frac{1}{3 \cdot \ln 2} \hat{k} + \vec{C}$

$$\Rightarrow \frac{1}{2} \hat{i} + 2 \hat{j} - \frac{2}{3 \cdot \ln 2} \hat{k} = -\frac{1}{2} \hat{i} - \hat{j} + \frac{1}{3 \ln 2} \hat{k} + \vec{C}$$

$$\Rightarrow \vec{C} = \hat{i} + 3 \hat{j} - \frac{1}{\ln 2} \hat{k} \quad \text{--- (1)}$$

$$\therefore \text{(IV)} \Rightarrow \dot{\vec{r}}(t) = \left( -\frac{1}{2(1+t^2)} + 1 \right) \hat{i} + \left( \frac{-1}{1+t} + 3 \right) \hat{j} + \left( \frac{2 \cdot 3^t}{3 \ln 2} - \frac{1}{\ln 2} \right) \hat{k}$$

Integrating again w.r.t. 't'

$$\int \dot{\vec{r}}(t) dt = \hat{i} \int \left[ 1 - \frac{1}{2(1+t^2)} \right] dt + \hat{j} \int \left( 3 - \frac{1}{1+t} \right) dt + \hat{k} \int \left( \frac{2 \cdot 3^t}{3 \cdot \ln 2} - \frac{1}{\ln 2} \right) dt$$

$$\Rightarrow \vec{r}(t) = \hat{i} \left( t - \frac{\tan^{-1} t}{2} \right) + \hat{j} \left( 3t - \ln(1+t) \right) + \hat{k} \left( \frac{2 \cdot 3^t}{9 \cdot (\ln 2)^2} - \frac{t}{\ln 2} \right) + \vec{d} \quad \text{--- (1)}$$

At  $t=0$ ,

$$\vec{r}(0) = 0 \cdot \hat{i} + 0 \cdot \hat{j} + \frac{1}{9 \cdot (\ln 2)^2} \hat{k} + \vec{d}$$

where  $\vec{d}$  is arbitrary const of integration.

(iii)  $6 \hat{i} + \hat{j} = \frac{1}{9 \cdot (\ln 2)^2} \hat{k} + \vec{d} \Rightarrow \vec{d} = 6 \hat{i} + \hat{j} - \frac{1}{9 \cdot (\ln 2)^2} \hat{k}$

$$\therefore \vec{r}(t) = \hat{i} \left[ 6 + t - \frac{\tan^{-1} t}{2} \right] + \hat{j} \left[ 1 + 3t - \ln(1+t) \right] + \hat{k} \left[ -\frac{1}{9 \cdot (\ln 2)^2} - \frac{t}{\ln 2} + \frac{2 \cdot 3^t}{9 \cdot (\ln 2)^2} \right] \quad \text{--- (1)}$$